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Mark your answers on the separate answer sheet.

1 « What is the decimal equivalent for 4 % ?
A 4.2 B 4.8 C| 425 | D| 428

2. Look at the landscaper’s plan. In the Southwest corner, they've placed a
shed.

< 10m >
Grass 8m
A
23 SHED

«— 4m —

Calculate the area of the grass on the plan.

A | 80m? B | 72m? C | 88m? D | 64m?

3 . Calculate the perimeter of the shed in cm.
A | 1200cm | B | 12cm | C | 600cm | D 6cm

4. fa=7,b=3andc=29.
What is a% + ¢?

A 23 B 49 C 58 D 37

5. What is a + b?
A 21 B 10 C 63 D 16




6. Here are 3 fractions. If you ordered them largest to smallest, which would
be the middle fraction?

3
6

6 1
7 8

o w

7 « Look at the right-angled triangle below.

A \
220’77
v [ \

+“—— 18cm ’

/cm

What is the perimeter of the triangle?

A 45cm B 47cm C 52cm D 48cm

8. What is the area of the triangle?

A | 126cm? | B | 63cm? | C | 77cm? | D | 2772cm?




9. One packet of biscuits costs £2.52. How much would a third of a packet

cost?

A | £840 | B | £1.26 | C | £0.84 | D | £0.63
1 O. What would the cost of 5 packets of biscuits be?

A | £10.08 | B | £10.80 | C | £100.80 | D | £1.08
1 1 . Look at the function machine below.

IN + 8 X 2 -5 OuT

When 2 goes in, 15 comes out...
Which number comes out if 6 goes in?

A 18 B 21 C 23 D 26

1 2. Read the following statements about 3-dimensional (3D) shapes and find

the one which is incorrect.

A. Cones have one circular base.

B. Cuboids have six rectangular faces.

C. Cylinders have six edges.

D. A triangular based pyramid has four sides.

1 3. Look at the following multiplication statements and identify which one is

incorrect.
A Three B Eight C Six D Five
sevens twelves sevens elevens
are 10. are 96 are 42. are 55.




1 4. Look at the calculation below.

+ 826 = 3241

What is the missing number?

A | 2136 B 2145 C | 4067 D | 2463

1 5. Sarah purchased several items from the supermarket. She needed to

claim the money back, but the receipt had a water stain on it.

potatoes £5.40
tomato sauce £1.25

£1.56

potato peeler *Special offer/50p saved*

cheese
Total

How much money did she spend?
A | £11.56 | B | £11.49 | C | £11.47 | D | £11.38

1 6. If there wasn't an offer on the potato peelers, how much would 2 cost?

A | £f410 | B | f416 | C | £408 | D | f4.12




1 7. Look at the quadrilateral and triangle below.

43

72° 53 q

How much more is angle b than angle q?

A 12° B 25° C 24° D 13°

1 8. What will the square be in the sequence?

12,24,48, __, g

A 108 B 96 C 192 D 102

1 9. Jenny is facing East; she turns 180° anti-clockwise.

Which direction is she now facing?

A | North B West C | South-East | D | North-West

20. The square below is split into equal parts.
What percentage of the square is shaded?

A|25% | B|30% | C|42% | D |36%




21 . continuation of Question 20*

How many more squares would you need to shade in to get to 48%
shaded?

A 2 B 3 C 4 D |5

22. A number is made up of 6 ones, 3 tens, 0 hundreds and 2 thousands.
When divided by 100, which number does it make?

A | 2036 | B |20.63| C [20.36| D | 2063

What percentage of the square is shaded?

23. 2 tenths is the same as how many hundredths?

A 2 B| 100 | C 50 | D] 20

24. Look at the two triangles below. Left is an equilateral, right is isosceles.

e Cc

How much bigger is angle c than angle e?

Al 21° | B| 11° | C| 19° | D [18°




25. Look at the shape below.

«— 18cm

I fozen

10cm l

v

]
+«— 11.8cm —

What is the perimeter of this shape?

A |54cm | B | 28cm | C |56cm | D | 65cm

26. Which number is a multiple of 127

Al 14 B| 18 | C| 38 | D |60

27. Which number below is a square number?

A S B| 25 |C| 35 | D |45

28. 19:31 is the 24hour time for which time below?

A | 631Tpm| B |5:31Tpm | C | 7:31pm | D | 9:31pm

29. A cake is 20cm tall.

Which statement below is correct?
A. This a twentieth of a metre.
B. This is one fifth of a metre.
C. This is a twentieth of a centimetre.
D. This is one fifth of a centimetre.




30. Which number below is a prime number?

A 37 B| 38 | C| 39 | D |40

31 « Which number below is NOT a factor of 21?

Al 21 B| 42 | C | 105 | D |86

32. Jerome creates a rule:

“In my sequence, you add three, then minus one.”

What are the missing numbers in the sequence below?
18, 20, , 24,26,

A | 21&23 | B | 22&28 | C | 22&26 | D | 22& 30

33. Which decimal number fills the space?

x4 =206.4

A 532 [ B | 206 | C | 256 |D|516

34. Look at the two numbers below.

3.24 8.45
What is the answer when you multiply the larger number by 100?

A (845 | B | 845 | C | 324 | D |324




35. What is 47 + 10?

A|74 B |47 | C | 047 | D |470

36. A map has the following scale: 3cm = 9km.

On the map, Lincoln is 12cm away from Horncastle.

What is the distance between Lincoln and Horncastle in km?

A |36km| B |27km | C | 12km | D | 48km

37. 5 litres of milk costs £5.08.

How much would 15 litres of milk cost?

A | £15.00| B [ £20.32| C | £15.24 | D | £24.15

38. What is 64 x 1007

A| 64 | B| 640 | C | 6400 | D 6.4

39. What is 15.04 x 100?

A [1540| B | 1504 | C | 1.504 | D | 15.40




40. Look at the cuboid below:

— 7

T1cm

What is the volume of the cuboid?

A |21lcm3®| B | 88cm3 | C |176cm® | D | 126cm?

41 « The temperature in London is 8° more than in Edinburgh, which is - 3°

What is the temperature in London?

Al 3° | B 1° C 5° D 11°

42. Ryan runs 5km in 23:42 seconds.

At the same pace, how long would it take him to run 15km?

A [ 1:11:06]| B | 1:06:11| C |0:47:24 | D | 1:24:47

10




43. Look at the graph below. It shows the number of children who owned

pets in Classes 1 - 5.

25
20
15

10

0
Class 1 Class 2 Class 3 Class 4 Class 5

In Class 1, 12 children owned pets.
If you combined the scores from Classes 1 — 3, how many of those children owned

pets?

A 27 B 35 C 37 D 45

44. If Ahmed wanted to run an average pace for a 10km and finish in less

than 47 minutes. Which time could not be his average 1km time?

A|3m42s |B|4m50s |C|4m 27s |D | 4m 12s

45. How many twentieths would make one whole?

Al 1|B|4|C|5|D| 20
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Marking Scheme
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